

Pay Estimate Created Date: May 15, 2024

Progress Estimate N 2			230915-D7C Pace Construction	Company,			4 Original Contract Amount 24 Net Change Order Amoun Current Contract Amount	t \$65,718.28			
Approval Date								By User			
May 15, 2024	Generated and Approved (and should be considered Draft) at the Project Office Level by con-										
May 16, 2024	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by										
May 17, 2024		Controllers Office Level by	ramses1								
Original Completio	n Date	Current Con	npletion Date	Actua	al Completion Date	%	of Current Contract Amount	Complete			
November 1, 20	24	Novembe	er 1, 2024				15.41%				
	Contrac	t Informational Dat	tes		Milestones						
Date Description	Original	Completion Date	Current Comple	tion Date	No Milestones Exist for Contract						
Acceptance Date											
Awarded Date	October	12, 2023	October 12, 2023								
Letting Date	Septemb	per 15, 2023	September 15, 2023								
Notice to Proceed Date	Novemb	er 6, 2023	November 6, 202	3							
Open to Traffic Date											
Work Began Date											

Contract Total Pay For Esti	mate No. 2				
		This Estimate	Previous	To Date	
230915-D7C					
Tota	I Posted Items Pay	\$861,635.87	\$199,241.72	\$1,060,877.59	
Gros	s Item Adjustments	(\$20,008.96)	(\$2,556.30)	(\$22,565.26)	
Incer	ntive	\$0.00	\$0.00	\$0.00	
Disir	ncentive	\$0.00	\$0.00	\$0.00	
Liqui	idated Damage	\$0.00	\$0.00	\$0.00	
Othe	er Contract Adjustments	\$0.00	\$0.00	\$0.00	
			<mark>\$196,685.42</mark>	\$1,038,312.33	
Contract Total Payable This	s Estimate:	\$841,626.91			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JST0056	0010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	TONS	\$80.000	35.88	\$2,870.40
	0020	4071005	TACK COAT	GAL	\$3.100	7,823	\$24,251.30
	0030	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	EA	\$250.000	1	\$250.00
	0080	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.110	35,725	\$3,929.75
	0100	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$21.500	613.5	\$13,190.25
	0150	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$95.000	7,197.03	\$683,717.85
	0180	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	TONS	\$97.970	1,361.91	\$133,426.32
Project JS	<mark>6056 - Tot</mark>	al					\$861,635.87
Overall - To	otal						\$861,635.87

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JST0056	0080	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS				-35,725	\$0.11	(\$3,929.75)



Pay Estimate Created Date: May 15, 2024

Progre	ss Esti 2	mate Number	Contract ID Prime Contra	230915-I ctor Pace Co		Pay Period Start May 2, 2024 Ori mpany, LLC Pay Period End May 15, 2024 Net Cur	Change Ord		65,718.28
Project Number	Line No.	Item Des	scription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JST0056	0080	WATERBORN	W STANDARD E PAVEMENT PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user coram overridding Payment Estimate Exception 1 on the current Payment Estimate.	35,725	\$0.11	\$3,929.75
	0150	MIXT	IS PAVEMENT TURE PG64-22 CE LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,043.51	(\$1.89)	(\$1,971.27
	0150	MIXT	IS PAVEMENT TURE PG64-22 CE LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,305.75	(\$1.89)	(\$2,466.67
	0150	MIXT	IS PAVEMENT TURE PG64-22 CE LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,735.4	(\$1.89)	(\$3,278.31
	0150	MIXT	IS PAVEMENT URE PG64-22 CE LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,528.08	(\$1.89)	(\$2,886.67
	0150	MIXT	IS PAVEMENT TURE PG64-22 CE LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,584.29	(\$1.89)	(\$2,992.85
	0150	MIXT	IS PAVEMENT TURE PG64-22 CE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment				(\$4,858.00
	0180	MIXTU	IS PAVEMENT IRE PG58-28H CE LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,107.8	(\$1.89)	(\$2,092.72
	0180	MIXTU	IS PAVEMENT IRE PG58-28H CE LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	254.11	(\$1.89)	(\$480.03
	0180	MIXTU	IS PAVEMENT IRE PG58-28H CE LEVELING)	Overrun		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	-0.04	\$96.08	(\$3.84
	0180	MIXTU	IS PAVEMENT IRE PG58-28H CE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment				\$1,021.40
Fotal									(\$20,008.96)



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	tion
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
JST0056		Resurface	Various	OSAGE	on various routes in Osage	and Gasconade Counti	es
JST0056	Job Numb	ers			This Estimate	Previous	To Date
		ed Item Pay s Item Adjustn		Item Pay	\$861,635.87 (\$20,008.96) \$841,626.91	\$199,241.72 (\$2,556.30) \$196,685.42	\$1,060,877.59 (\$22,565.26) \$1,038,312.33
		ntive centive dated Damage	s		\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00
		r Contract Adj			\$0.00	\$0.00	\$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JST0056, Item 6206001C, Project Item Line Number 0080, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	Waiting for retro-reflectivity results.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project JST0056, Item 6206001C, Project Item Line Number 0080, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Waiting for retro-reflectivity results.	coram	Overridden
Estimate Exception Type: Item Overrun: Contract 230915-D7C, Contract Project JST0056, Project Item Line Number 0180, Contract Line Item Number 0180, Item 4020521, Minor Item.	Waiting for change order to be finalized.	coram	Acknowledged

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Contract Nm.CONTRACT	Project No.	Category	Line No.	ltem Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
230915-D7C	JST0056	0001	0010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	1,919.00	0.00	1,919.00	TONS	35.88	\$80.00	\$2,870.40
		0001	0020	4071005	TACK COAT	60,268.00	0.00	60,268.00	GAL	10,005.00	\$3.10	\$31,015.50
		0001	0030	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	4.00	0.00	4.00	EA	1.00	\$250.00	\$250.00
		0001	0040	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	6.00	0.00	6.00	EA	5.00	\$3,000.00	\$15,000.00
		0001	0050	6169901	MISC.TEMPORARY TRAFFIC CONTROL LUMP SUM	1.00	0.00	1.00	LS	0.05	\$73,320.00	\$3,666.00
		0001	0060	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$467,370.74	\$0.00
		0001	0070	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	243,302.00	0.00	243,302.00	LF	0.00	\$0.13	\$0.00
		0001	0080	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	674,751.00	0.00	674,751.00	LF	35,725.00	\$0.11	\$3,929.75
		0001	0090	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	400.00	0.00	400.00	SQYD	0.00	\$21.50	\$0.00
		0001	0100	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	2,232.00	0.00	2,232.00	SQYD	613.50	\$21.50	\$13,190.25
		0050	0110	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	5,004.40	0.00	5,004.40	TONS	0.00	\$87.00	\$0.00
		0051	0120	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	4,395.10	0.00	4,395.10	TONS	0.00	\$91.50	\$0.00
		0052	0130	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	3,879.70	0.00	3,879.70	TONS	0.00	\$85.50	\$0.00
		0053	0140	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	1,858.40	0.00	1,858.40	TONS	0.00	\$91.50	\$0.00
		0054	0150	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	9,361.70	0.00	9,361.70	TONS	7,197.03	\$95.00	\$683,717.85
		0055	0160	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	4,089.00	0.00	4,089.00	TONS	0.00	\$97.00	\$0.00
		0056	0170	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	3,093.80	0.00	3,093.80	TONS	0.00	\$95.00	\$0.00
		0057	0180	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	2,465.20	670.80	3,136.00	TONS	3,136.04	\$97.97	\$307,237.84
		0058	0190	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	3,286.30	0.00	3,286.30	TONS	0.00	\$88.00	\$0.00
		0059	0200	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	2,545.50	0.00	2,545.50	TONS	0.00	\$96.00	\$0.00
		0060	0210	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	2,253.70	0.00	2,253.70	TONS	0.00	\$91.00	\$0.0
		0061	0220	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	1,715.20	0.00	1,715.20	TONS	0.00	\$84.00	\$0.0
		0062	0230	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	2,573.20	0.00	2,573.20	TONS	0.00	\$88.00	\$0.0
		0063	0240	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	3,878.20	0.00	3,878.20	TONS	0.00	\$83.00	\$0.0
		0064	0250	3105002	GRAVEL (A) OR CRUSHED STONE (B)	121.00	0.00	121.00	TONS	0.00	\$80.00	\$0.0
		0064	0260	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	3,266.50	0.00	3,266.50	TONS	0.00	\$87.50	\$0.0
		0064	0270	4071005	TACK COAT	3,788.00	0.00	3,788.00	GAL	0.00	\$3.10	\$0.0
		0064	0280	6169901	MISC.TEMPORARY TRAFFIC CONTROL LUMP SUM	1.00	0.00	1.00	LS	0.00	\$6,306.00	\$0.0
		0064	0290	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$65,000.00	\$0.0
		0064	0300	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT. TYPE P BEADS	42,451.00	0.00	42,451.00	LF	0.00	\$0.20	\$0.0
		0064	0310	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	118.00	0.00	118.00	SQYD	0.00	\$36.00	\$0.0
		0065	0320	3105002	GRAVEL (A) OR CRUSHED STONE (B)	74.00	0.00	74.00	TONS	0.00	\$87.00	\$0.0
		0065	0330	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE	1,894.70	0.00	1,894.70	TONS	0.00	\$92.00	\$0.0
		0065	0340	4071005	LEVELING) TACK COAT	2,289.00	0.00	2,289.00	GAL	0.00	\$3.10	\$0.0
		0065	0350	6169901	MISC.TEMPORARY TRAFFIC CONTROL LUMP SUM	1.00	0.00	1.00	LS	0.00	\$5,730.00	\$0.0
		0065	0360	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$35,000.00	\$0.0
		0065	0370	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	25,745.00	0.00	25,745.00	LF	0.00	\$0.25	\$0.0
		0065	0380	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	22.00	0.00	22.00	SQYD	0.00	\$191.00	\$0.0
	0066 0390 3105002 GRAVEL (A) OR CRUSHED STONE (B) 167.00 0.00 1						167.00	TONS	0.00	\$78.00	\$0.0	
		0066	0400	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	4,574.10	0.00	4,574.10	TONS	0.00	\$93.50	\$0.0
		0066	0410	4071005	TACK COAT	5,304.00	0.00	5,304.00	GAL	0.00	\$3.10	\$0.0

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
230915-D7C	JST0056	0066	0420	6169901	MISC.TEMPORARY TRAFFIC CONTROL LUMP SUM	1.00	0.00	1.00	LS	0.00	\$6,918.00	\$0.00
		0066	0430	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$45,000.00	\$0.00
		0066	0440	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	58,714.00	0.00	58,714.00	LF	0.00	\$0.25	\$0.00
		0066	0450	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	58,714.00	0.00	58,714.00	LF	0.00	\$0.10	\$0.00
		0066	0460	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	256.00	0.00	256.00	SQYD	0.00	\$22.00	\$0.00
	Project JS	ST0056 - To	tal Value	Posted to D	ate as of Report Generated Date							\$1,060,877.59
230915-D7C Ove	erall - Total	Value Post	ted to Da	te as of Rep	ort Generated Date							\$1,060,877.59



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JST0056

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	5/9/24	5/10/24	35.88	TONS	The entire Route Z Osage	0				
0020	4071005	TACK COAT	5/2/24	5/6/24	736.00	GAL	Route Z WBL	2.457		0.48		
			5/3/24	5/6/24	245.00	GAL	Route Z WBL	0.48		.012		
			5/7/24	5/9/24	834.00	GAL	Route T Gasconade county	12.180		9.684		
			5/9/24	5/10/24	1,324.00	GAL	Route T Gasconade LM 12.180 to 9.713 SBL LM 9.684 to 8.611 NBL	12.180		9.713		
			5/10/24	5/13/24	1,815.00	GAL	Route T Gasconade NBL	8.611		4.00		
			5/11/24	5/15/24	1,300.00	GAL	Route T Gasconade SBL	9.713		5.636		
			5/15/24	5/15/24	1,569.00	GAL	Route T NBL	4.00		0		
0030	6123000A	TRUCK OR TRAILER MOUNTED ATTEN (TMA)	5/11/24	5/15/24	1.00	EA	Portable, used on Route Z Osage County.	0				
0080	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	5/11/24	5/15/24	35,725.00	LF	Route Z Osage County	0.012		3.395		
0100	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	5/11/24	5/15/24	613.50	SQYD	Route T Gasconade milled per plans 358.5 SY Route V Gasconade milled per plans 255 SY	0				
0150	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	5/7/24	5/9/24	1,043.51	TONS	Route T Gasconade county	12.180		9.684		
			5/9/24	5/10/24	1,305.75	TONS	Route T Gasconade LM 12.180 to 9.713 SBL LM 9.684 to 8.611 NBL	12.180		9.713		
			5/10/24	5/13/24	1,735.40	TONS	Route T Gasconade NBL	8.611		4.00		
			5/11/24	5/15/24	1,528.08	TONS	Route T Gasconade SBL	9.713		5.636		
			5/15/24	5/15/24	1,584.29	TONS	Route T NBL	4.00		0.00		
0180	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-22H (SUR	5/2/24	5/6/24	1,107.80	TONS	Route Z WBL	2.457		0.48		
			5/3/24	5/6/24	254.11	TONS	Route Z WBL	0.48		0.012		

The information below this line are details for Construction Signs (if applicable), No Data Available



Line Item Adjustments by Estimate

Contract ID: 230915-D7C

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JST0056	0020	TACK COAT	Material		1	May 2, 2024	SYSTEM	\$6,764.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user coram overridding Payment Estimate Exception 1 on the current Payment Estimate.
					1	May 2, 2024	SYSTEM	(\$6,764.20)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0020 -	Total						\$0.00	
	0080	4 IN. YELLOW WATERBORNE PAVEMENT	Material		2	May 15, 2024	SYSTEM	\$3,929.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user coram overridding Payment Estimate Exception 1 on the current Payment Estimate.
		MARKING			2	May 15, 2024	SYSTEM	(\$3,929.75)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
	0080 -	Total						\$0.00	
	0150	BITUMINOUS PAVEMENT	Other Item Adjustment	ACAD	2	May 15, 2024	coram	(\$4,858.00)	
		MIXTURE PG64-22 (SUR		ACAD - Tota	al			(\$4,858.00)	
			Other Item Adjustment - Total				(\$4,858.00)		
			Price FUEL		2	May 15, 2024	SYSTEM	(\$13,595.77)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$13,595.77)	
			Price FUEL	- Total				(\$13,595.77)	
	0150 -	Total						(\$18,453.77)	
	0180	BITUMINOUS PAVEMENT MIXTURE	Other Item Adjustment	ACAD	2	May 15, 2024	coram	\$1,021.40	
		PG58-22H		ACAD - Tota	al			\$1,021.40	
		(SUR	Other Item	Adjustment -	Total			\$1,021.40	
			Overrun	Overrun	2	May 15, 2024	SYSTEM	(\$3.84)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				Overrun - T	otal			(\$3.84)	
			Overrun - T	otal				(\$3.84)	
			Price FUEL		1	May 2, 2024	SYSTEM	(\$2,556.30)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					2	May 15, 2024	SYSTEM	(\$2,572.75)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$5,129.05)	
			Price FUEL	- Total				(\$5,129.05)	
	0180 -	Total						(\$4,111.49)	
JST0056 -	Total							(\$22,565.26)	
Overall - 1	Total							(\$22,565.26)	



There are no contract adjustments to display for this contract.